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Government In the economy

® Taxation and government spending < it & £ !
» Tax revenues and spending f.jc & £
> Equity vs. efficiency of taxation e f.cr2r T 5 32K ¢
» Tax Incidence FEfLjF B

® Regulations ¥ i-¢ !
> Price ceiling % &+ *
> Price floor % =7 'R

® Government failure rc /% &
> Bureaucracy and corruption F & £2 7 i3

—

» Underground economy ¥ T &7
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Major functions of government < -5 it

® Three major roles of government (by Richard Musgrave): s/ & B i
> Provides public goods and corrects market failure. 3& & = = p4 2 0 ¢F 3844
> Redistributes income to achieve an equitable distribution of society. #7& & 4 fiz
»> Attains high levels of employment. &g & 2 ifui

ools for government sz s ) 1 &

»> Fiscal policies: taxation and government spending. 4 rerc ) (FE 4L Fe 2 )

» Monetary polices: controlled by the central bank, including the management of
money supply and interest rate. " Fx R (B S ] F FTR)

> Regulation & 1
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Major functions of government < -5 it

® \Why does government tax and spend?

» Raise revenues to pay for public goods.
2 RN AY NPNE S S S Sl

» Redistribute income via transfer payments to address fairness issues.
Fl* BEEL DEDEE L PP h(deit € A5 L 1)

» Finance operations of government.
AT FCRAE (T (dr 2 i 4 | FroR)

» Correct market failures and externalities.
vk IR
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Taxation and government spending #< /-]t £

® Revenues and spending of central government # + Fric » & £ )
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Taxation and government spending #< /-]t £
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Government spending #< fi-x
A
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Government spending #< /i3 |
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Taxation revenues &<

® Tax revenues collected by the central government K]
> TR AR(F FBEFEATE F ATAR) 0 AL R B A & ahffc Rk
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Taxation revenues &<

@ jtr FMinfs w4
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Taxation revenues &<

® Cross-country comparison: i &+ i
Tax revenue/GDP » ~ fife fi f 4 5

> RNRFEFLE B B7 FrEEXERARR(SHEREH)
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Equity of Taxation e ft.c2r -+ o

® Equity — progressive income tax system: 2> -T

» Average tax rate is the total tax paid divided by total income earned.
Marginal tax rate is how much of the last dollar income pays in taxes.

» The current income tax system is progressive ( & i&#w]), in that high-
Income Individuals pay higher average taxes and higher marginal taxes.

> The purpose is to achieve vertical equity (£-2 = T)

AL ﬁﬁﬁ F_HTiE i"\rﬁ'ﬂ"Tﬁi}]ﬁm—li”ﬁm "t’f"ﬂﬁm ‘AXEF o H P enh
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Equity of Taxation fE &2 T

2 ( AR RIERTE )

@ i W Ll A SFETERIFREIEE FERT 2 VR

~ Taxableincome (USD) ~ Taxbrackets
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Equity of Taxation #E

People in this

percentile . . .
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® Inthe U.S,, the richest 1% earns 15% of the national income, and pays
24% of the total taxes. This somehow shows vertical equity.
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Equity of Taxation #e it T
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Equity of Taxation fe 2 T

® The after-income tax income distribution is more equal than the before-tax
Income shares of the top 1% and the lowest 20% of households.
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Efficiency of Taxation #e & 57 5 o

® Deadweight loss i 3 4f %
The decrease in social surplus caused by some market distortion.
® Main reasons for distortion:

Government intervention to the market: price ceiling, price floor, taxes and
subsidies, etc.

» Imperfect competition: monopoly, oligopoly, and monopolistic competition.

® The market no longer produces efficient outcome. There Is an inefficiency.

AFF A AT R LD Fonp b g S ik € 4R 4 ’ﬂfﬁv‘%%ﬁ:fﬁ
IR o ARz d RIREF G FIEF R 2L T Fhr
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Tax Incidence B 73

® Tax Incidence for indirect taxes & & fit e fit b 73

» After a tax Is Imposed, those who officially pay the tax are the statutory
Incidence

LR A RERY 2 TUFE.
## 42 ¢ Indirect tax can be shifted through the price change.
FRRT EBH 51D BRI § %

» However, some people may still bear some tax burden even though they don’t
officially pay the tax. They are the economic incidence of the tax.

EAMER I E R BRI E
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Tax Incidence fE.fit b7 3

® Use demand-supply curves to analyze
the effect of taxation.

® Before tax, the equilibrium price is $6.5.

® Suppose that there is an excise tax of $2
rmposed on the sellers.

R AR frniz T
® The extra tax 1s added to the marginal cost

of the sellers. Thus, the after-tax supply
curve shifts upward (the cost is higher).

R el s & A Fle a8
SELmEH

Price

Incidence on
consumers

$7.50 /-

6.50 —-#~----- -- - Deadweight
loss

550 -~
: Incidénce on
E prodL:lcers D
] ]
2,500 < 4,000 8,000
Quantity
(plates per day)

(c)



Tax Incidence fE.fit b7 3

® The after-tax equilibrium price is $7.5.

Price

® Buyers actually pay $1 more for each
unit after the tax.

Incidence on
consumers

® The tax incidence on buyers is 50% of

e $2 tax, even though the tax was $750 /3
impOSEd on sellers! 6.50 F--g#~-------- . Deadweight
AE AR R i'ﬂ@’_rx% S /ﬁ J'Ff B2 1 . | loss
N\ - o )\ ) = ,,\, 0 2 = 550 -~ J !
% 47& ¥R A AR 7];}1*( i = @TF (] i"»}; ) N Incidence on
=R P ARSI 7 ' ' producers D
2,500 <« 4,000 8,000
EMET T EERP L #5091 Quantity
ﬁ;__ 7?{‘ TF rR” (plates per day)

(c)
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Tax incidence and elasticities A2 fiL k7 7§ &2 8%

® Tax incidence and elasticities:

» Given the same supply function, the buyers whose demand curve is more inelastic
bear more tax burden.
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Efficiency of Taxation B fi s795% 5

® Efficiency »z % .

A status where the well-being of everyone in society, or the social welfare, Is
maximized.

P A gt g AR TE I A~ gk iy

Social surplus = consumer surplus + producer surplus

A g AR Bt o WAL g i L IR (BRI A )i Bld o
oAk g BFIR = T E FHIR L 2 AHFIAR

Y= EO
?‘%KEE

( BB MR )



® The difference between what you are
willing to pay and what you have to
pay (the market price).

W —ﬁ»ﬂ%:‘?jﬁﬁ H =iy F R
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Consumer surplus 7" %

e

Price $125 -
100 +

75

Pyapker = $50

25

Dollar benefits from
being able to purchase

™ jeans from the market

at $50 per pair

Quantity



® Consumer surplus = the area of
triangle below the market demand
curve and above the market price.

® CS = Total benefit — total cost

i%‘m/ﬁ B F fF' ARE K- B S
(60H i~ )z_ = "Lr}a H i~ a9 ’%ﬂﬁ'
B2 B L Rt Az k0 4 3k
07 R R B Hes ez 49
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Consumer surplus i % & #14+

Price $125

100 +

75 Consumer

Surplus

Pyarier = 950 premseremsennsnnnnaranns

25 Total cost

Dmarket

20 40 60 80
Quantity sold (in millions)



® Change In consumer surplus:

When price goes up (down), the
consumer surplus decreases (increases),
meaning that consumers feel worse off
etter off) because of the price change.

R AL UG DL AR N &)
AR > (W 4 ) 0 & R E R
#o Gt )
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Consumer surplus i % & #14+

Price $125

100 -

Pyapker = $75
A

50

25 F

. Consumer
Surplus

I Lost
Consumer Surplus

Dmarkai

20 40 60 80
Quantity sold (in millions)



Producer surplus 2 2 = 14

® Definition:

_ Price $140 - Marginal Cost

The difference between the market (Supply)
price and the price that a firm would 120 /
be willing to accept (i.e., the marginal =~ P =$100 pesssssenrsannsne-flurnnnnrnannn:

st). Producer

80 Surplus

2 Flpdp s 9 S Re 50

é_iﬂf R X R B A FE o .0

¥ OREEE 2 A K et e o

1
1 2 3 4 5 6 7
Quantity

Y= EO
?‘%KEE

( BB MR )



Producer surplus 2 2 = 14

® Producer Surplus = The area of

triangle below the market price and ~ Price $140 1 gﬂ:f;ﬁ Cost

above the marginal cost curve. 120 |

ié‘—%’f iklj%{%—é‘ﬁ i%f& ’g :E;<4E fi) P=$1DD I—Illllll.l-ll-llll' AN EEEEEEEEEEER
e m s B e B AL R R 20 Producer |
2 i BEAeiiAs K o 4 AP B Surplus !
REFEN AR Fehz 435 60 |
|
40 E
20 :
|

L | I! 1 1 ]
|

1 2 3 4 5 6 7

Quantity
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Producer surplus 2 2 = 14

® Change in producer surplus:

When price goes up (down), the Price $140 Marginal Cost
producer surplus increases (decreases), p 150 bossssrsssssas (Supply) £
. _e
meaning that producers feel better off S A | A
orse off) because of the price change. Poa=¥1%0 [***g{miis™**; Pesspassissan
€ PR ., 80 | |
¥R 4 (TP 2 AL f] L
v S I — ST g .
AR S () 0 T 4 A E AR 60 o
H A (o) o 40 : E
)
20 1
) )
| | | ! : L1
1 2 3 4 5 67
J Quantity
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Deadweight loss »x 5 38 4

® Deadweight loss caused by taxation:

> Social surplus before the tax (price is P?)
CS =A+B+C+D
PS = E+F+G
SW = A+B+C+D+E+F+G
Social surplus after the tax:
(buyers pay P,, and sellers obtain P,)
cs=A  _ tfemeiea-
PS=G
Tax revenue = B+C+F p
SW = A+B+C+F+G )

:S)--
-
fmmmmmes

» Deadweight loss = D+E
AfLi 28 F Mm g Ak g 3 A D+E
PR AR 20 R AT o
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I 27 s P
Deadwelght loss »x & 38 4
® fefiis + hE I A 5 7

> ACS = -B-C-D
APS = -E-F P S,
Tax revenue = B+C+F
» Deadweight loss = D+E

PR AR R NERF R e R T 4 >
R R I p =15

> R R e R R K o e d R i
Foo Blh 4 %3 P CAT

> HALE e o g EA E G S IE en : '
4 B Aok % 0"
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Regulation & |

® Regulation is a form of government intervention to markets through its
command-and-control policies. The government directly takes some actions
to control a certain activity in the economy.

? FIEFFEBE RS (TR L D FEEFFRE o NI F TP
Ade 8 & 2 E IR TR R FIFR > R
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Regulation & |

® Price ceiling i #& *+ *

» Price ceiling puts a cap (or
maximum) on the price, e.g., rent
control.

Price S

2,100
Deadweight

1650 loss

There Is a shortage under the price
ceiling. The new equilibrium 1,200
quantity reduces to 2,500 units.

FORPR A 7 @R R - Bk
B gk ML AT .

Price ceiling

=750

t]4e : rent control 42 £ & 4

Qs= 4,000 Quantity
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租金管制.pdf

Regulation & |

. ,
.r"a .' Wr._]
Iz i»

so rent control means we can't kick her

out right to make the problem go away Movie:

Duplex
(2003)




Regulation & |

® Price ceiling % # * %
» Producers must be worse off.

» Consumers may or may not be
better off, even though this policy Is
meant for their benefit.

» There Is a deadweight loss.

i & %mm%%maﬁdﬁﬁo

EF A s R DARE T TR vk

T R0 ﬁ‘,\‘f%‘r’? At f?f ?E/ﬁ%j”%zé
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Price
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1,650

Deadweight
loss

Price ceiling

Quantity



Regulation & |

® Price floor % 7™
» Puts a lower limit on the price, e.g.,
minimum wage policy. (& <1 ¥ 5T k)

» The equilibrium guantity now reduces to
Q:. There are some unemployed workers
now (with an amount of Q- Q).

T $725,250~ ~ pF 168~
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Regulation & |

® Price floor % # ™ *

» Firms must be worse off because wage
Increases.

» Workers may or may not be better off,
even though this policy is meant for
their benefit.

» There Is a deadweight loss C+D.

2RE ( ARBRMERE )

minimum wage
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Should there be a Red Market?

EZFRFEREFR ¢
® Currentpolicy ILiFFc K * L3 BF | #
> lllegal for people to sell their organs (available only by donations)

» Government has imposed a price ceiling of zero.

» Typical patient waits several years for a kidney transplant, and every year thousands of
people die because a kidney cannot be found

Benefits to allowing a free market inorgans < E ¢ § ¢ 4§ ¢ £ il &
» People are born with two kidneys, and usually need only one
»> Few people desperately want a kidney and are willing to pay a lot

® Cost: concerns for fairness. The market benefits the rich at the expense of the poor
FERADGEVRER?

EED (ARBEANRE)


器官買賣.pdf

Should there be a Red Market?

® |f a kidney market opens: & < EF | § 7 3
» Sellers get paid, and buyers get to live (win-win).

» There is no shortage of kidneys, and the allocation
IS efficient.

® The soclal welfare increases:

» The social welfare before the open = CS + PS =
7abQ0 (PS = 0 since P =0)

» The social welfare after the open = CS + PS =
AaeP* + 7P*e(Q0 = 7aeQ0

> Deadweight loss from regulation = AbeQ.
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Government failures JIFT”L =

® Government failures refer to a broader set of inefficiencies associated
with government interventions, including the deadweight losses of taxation
or inefficiencies from price controls or direct regulation.

® Some other reasons that cause government failures relate to the agency
oblem, including bureaucracy and corruption.

Thr4 %{ﬂﬁ’{f‘j—l SEora g e R S R 1 o FIAE RS F AT
Renpofrs § 0 B F - & 2o FF 19

N —

F;;,im’ e Hfe g s o
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Government failures rc/f-4 %

® Bureaucracy and corruption § &£ § &

» The public sector often lacks of competition and of the profit motive for
the workers to make efforts or to behave good.

» There can be moral hazard problem, in that bureaucrats are lazy or do
something good for themselves but bad for the government or the society.

» There incurs a bureaucracy cost when bureaucracies don’t function
efficiently.

NIV F R AR o - A AL 0 R AT AR K R
o A4 A RF
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Government failures JIU‘T’* =

® Cross-country comparison:

Efficiency of Bureaucracy 2012, Scores

Singapore 2.25
Hong.. 3.53
Thailand 5.25

Taipei ||l 5.57

Japan 5.77

South Korea 5.87
Malaysia 5.89
China 7.11
Philippines 7.57
Indonesia 8.37
Vietnam 8.54 Source:

India 9.21 POLITICAL &
: ! ' ' ! ’ ECONOMIC RISK
0 2 4 6 8 10 CONSULTANCY

Source: PERC Ltd, Jan 2012; Note: 1-Best, 10-Worst

e
R
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Government failures LF;CFT”L =

® Corruption refers to the misuse of public funds or the distortion of the
allocation of resources for personal gain.

® The methods include accepting bribes, embezzlement, theft and fraud, etc.

® For example, the World Bank estimates the total amount of bribes paid in
oth developing and developed countries in years 2001-2002 to be 1 trillion
dollars, about 3 % of world GDP.

B BRF R F 407
A EREADEE > T i B EGDP3%
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Government failures E{FT”L =

( ﬁ*}(ﬁ%mﬁﬁu%

® Cross-country comparison:

Perceptions of Corruption in Asia, the
US and Australia

Singapore
Australia
Japan

Hong Kong
USA

Taiwan
Macau
South Korea
Malaysia

Philippines
China
Thailand
Cambodia
Vietham

Indonesia
India

9 10

Grades are scaled from zero to 10, with zero being the best grade possible and 10 the worst. The question
asked was: “How do you grade the problem of corruption in the country in which you are working?”

Source:
POLITICAL &
ECONOMIC RISK
CONSULTANCY



Government failures ﬁzf‘T’* =

® Bureaucracy efficiency and GDP per capita:

20 % =1 T
° -
Kuwait S PRI E X
i ¥Bm s 0 F
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y 2 ’
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Government fatlures ﬁzf‘T’* =

® Bureaucracy efficiency and GDP growth rate:

8

3 o p kT
i Singapore N 2, 22 >
° =~ £ -‘-% F&g e ﬁ'&
Korea ] Hong Kong o
6 ® @wan ° 7. F]g %E o E\ﬁ_}é
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Thailand Greece A E i ‘-/' ﬁ E
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4 gal ® y
PY Egypt L Spain °® n
§ ° Paki y ® o Orum 8 eo° K
A = stan g ) Jordan ® .
8 Iran ot . ® ® © Netherlands Be careful:
‘B L @ United States .
- ® O
g2 e e o X ® Suitzeriand correlation vs.
Bangladesh e o imbabwe ’
S Kenya @ ® oo Chile New Zealand causation!
Haiti Liberia_  Njigeria ° o © L
Jamaica ®
0 [ ]
i Zaire Ghiging Venezuela ‘:“gda Source:
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@) Corruption and
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Underground economy ¥ & & 2

® The underground economy (black market) includes activities where
Income taxes are evaded or avoided, as well as illegal activities, such
as drug dealing and prostitution.

® The cost of underground economy:
> It jeopardizes the effectiveness of government policy or regulation.

> It puts legitimate business at a disadvantage.

» Governments must levy higher taxes to compensate for the lost revenue.
> It costs the government to stop the illegal activities.

B S AVE T PR D AT DS ARE B o Aol ~ 3 B S

HRE (ARBBMERE )



Underground economy # 7+

® Size of underground economy: cross-country comparison

Figure 1. Size of Shadow Economy
(in percent of GDP)

Source:
= 7 = “Inclusive Growth, Institutions,
Szeofs Sy (RS and the Underground Economy”
= %ﬁig‘.f" 1 by Singh, Jain-Chandra, and
= 20 to 30 Mohommad (2012)
3010 40
( LRE BRI ) W 40to 50

B More than 50
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Underground economy # 7+ 5573

® Size of underground economy and regulatory burden:

Figure 4. Size of Shadow Economy and Regulatory

Burden ? F)AR F ~ E
—~ 80 r A+ € o A
o y = -8.1255x + 34.985 ; g é %j"
® 70 | R2 = 0.1999 <P RO BT
) S AL AR &
2 60 1
£ (*ﬁ\ %ﬁi%— z
§ 50 + %\' Eai‘ﬁ'lﬁ’ ’ Z:t\' 7?
O o S
2 40 | FHIAE)
°
®
£ 30 |
e
(o]
.g 20 F Source:
n “Inclusive Growth, Institutions,
10 and the Underground Economy”
by Singh, Jain-Chandra, and
0 ! L ! ! ' Mohommad (2012)
25 ( AR BMERE ) -3.0 -2.0 -1.0 0.0 1.0 20

Regulatory burden - WGI score




Underground economy # 7+ 5573

® Size of underground economy and regulatory burden:

Figure 5. Size of Shadow Economy and Overall
Governance
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Figure 6. Size of Shadow Economy and Rule of Law
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